SIMPLE PEDIGREE PRACTICE

Name__________________________________


Pd_____

1. Albinism is a recessive disorder affecting humans. If someone has this disorder, they can not produce skin pigment, and have the genotype aa. The pedigree below shows people with albinism.
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· On the pedigree, mark each person’s genotype. If a dominant individual’s genotype is unknown, write A___.

· How many people have the disorder?

· Both generation I-1 and I-2 must have what genotype? _________ How do you know?

· If generation III-4 marries an albino woman and has a child, what is the probability that the child will have the disorder? Use a Punnett square to justify your answer.

2. Some groups of people in rural Kentucky are affected with a skin disorder called Blue offspring, where the skin appears to be bright blue. The pedigree below shows people who have this disorder.
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· How many individuals have the Blue offspring disorder?

· Look at generation I-3 and I-4. Neither of these people have the disorder, but their last daughter, II-8 does. What does this tell you about the disorder? Use a Punnett square to justify your answer.
· Fill in the genotypes for the pedigree, using the letter B.

· If generation III-3 marries a pure dominant normal male, what is the probability of each of their children having the disorder? Use a Punnett square to justify your answer.

· Complete the following rule: 

If a child is different from both of their parents, the child must be ____________.

Colorblindness is a type of sex-linked disorder, inherited on the X chromosome. People who have colorblindness have never experienced true color and do not understand the concept of gray. Colorblindness is much more common in males since males have one X and one Y chromosome. If the X chromosome carries the recessive allele, the male will have the disorder. Since females have two X chromosomes, it is rarer for them to have this disorder. Females can be carriers for the disease, but because only one of their chromosomes carries the recessive allele, the other chromosome will most likely carry the dominant allele. It is extremely rare that both X chromosomes in a sex-linked disease are mutated since both parents would have to have be carries and give the disease on both of the daughter’s X chromosomes.
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· On the pedigree, mark each person’s genotype. If a dominant individual’s genotype is unknown, write N___.

· How many people have the disorder?

· If generation III-4 marries a Normal heterozygous woman and has a child, what is the probability that a male child will have the disorder? A female child? Use a Punnett square to justify your answer.

Label the genotype for each child using the letter E.  Use a Punnett square to justify your answer.
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XNXN   Normal female





XNXn    Normal Female


�


XnXn     Color blind female


�


XNY Normal Male





XnY Color blind Male


�








